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infectious agent living on or in it under natural conditions; infection is the invasion of body
fissues by an infectious organism but does not have to cause disease conditions; mode of
transmuission 1s the method of transmission of an infectious agent from its reservoir to its host.
A key to the success of public health measures has been an increasingly refined understanding

of the mechamsms by which infectious agents are transmitted. Answer the questions :

All of the following are true about Clostridium tetam infection except:

Main reservorr 1s soil, amimal and human intestine.

Seen commonly in winter and dry climates.

Main mode of transmission is through trauma and contaminated wound.
Herd immunity doesn’t have much value.

oOw R

12820650321, A
12820650332 B
12820650332, C
12820650224, D

Man is the reservoir of infection for which of these Rickettsial diseases?

A. Endemic typhus
B. Indian tick typhus
C. Scrub typhus

D. Epidemic typhus

12820650235, A
128206502326 B
12820650337, C
12820650228, D

Which of the following is not transmitted through the sexual route?
A. Hepatitis D

B. Hepatitis E

C. Hepatitis B

D ~Hepatiis &
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12820650241, C
1282065032342, D
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Intermediate host for hydatid disease is:
A. Dog

B. Cat

C. Man

D, Fox

128206503243, A
12820650244, B
12820650345, C
128206503246, D

Cuesticon Label | Comprehension

Answer the questions related to design of a study for which the research question was stated as:
What is the health seeking behaviour in the various caste groups in village X for childhood respiratory infections?

Optimal method of sampling households in the village would be :
A. Random sampling
B. Stratified random sampling
C. Purposive sampling
D. Convemence sampling

1282065032347, A
12820650248 B
128206503249, C
12820650250, D
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A. Treatment seeking behaviour in case of respiratory infections

B. Healthcare providers that the children are taken to in case of respiratory
mmfections

Health promotion, preventive practices and treatment seeking behaviours for
respiratory infections

Treating doctors” opinion about treatment seeking behaviours in case of
respiratory infections

o O

12820650351, A
12820650252 B
128206850353, C
12820650354, D

Analysis of responses would be done by:
A. Aggregating multiple responses from all the caste groups
B. Multiple responses of each caste group analysed separately
C. Single responses of each caste group analysed separately
D. Aggregating single responses from all the caste groups

12820650355, A
12820650256, B
12820850357, C
12820650358, D

To overcome recall bias the questions would be about:

A. Hospitalisation over one year for any case of childhood respiratory infections

B. Non-hospitalisation treatment over past two weeks for any case of childhood
respiratory infections

C. Hospitalisation on day of survey for any case of childhood respiratory
infections

D. Hospitalisation over one year and non-hospitalisation treatment over past two

weeks

128206502359, A
12820650260, B
12820650361, C

12820202 0
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Anti-malaria month is observed in:
A. Apnl
B. May

E. June
D. July

12820650363, A
12820650264, B
128206850365, C
128206503266, D

Which of the following 1s used to prevent transmission from an infected pregnant mother
to her newborn child?

A. Lamivudine

B. Stavudine

C. Nevirapine
D. Didanosine

128206850367, A
128206503265, B
12820650369, C
128206502370, D

Which disease is known as the “‘Captain of the Men of Death’?

A. AIDS

B. Tuberculosis
C. Cholera

D. Smallpox

1282068502371, A
12820650372 B

12820650373, C
12820650274 [
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Which is an occupational disease according to the Workimen's Compensation Act, 1923?
A. Tetanus
B. Dengue
C. Typhod
D. Anthrax

128206850375, A
12820650276 B
12820650377, C
12820650378, D

Placenta after delivery should be disposed by:

A, Autoclaving
B. Microwaving
C. Disposing in blue colored bags
D. Incineration

12820650379, A
12820650380. B
12820650381, C
12820650282, D

Ortho-tolmdine test 1s used to determine:

A. Nitrates in water

B. Nitrites in water

C. Free and combined chlorine in water
D. Ammomnia content in water

12820650382, A
12820650284, B
128206502385, C
12820650286, D
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. Acute Respiratory Infections
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12820650387, A
12820650388. B
12820650389, C
12820650230, D

Which of the following is generally not marked by dehydration?
A. MDR-TB

B. Cerebral malaria
C. Pertussis
D. Cholera

12820650331, A
12820650292 B
128206503393, C
12820650234, D

Which micronutrient supplement should be admimstered during an acute episode of
diarrhea?

A. Iron

B. Zinc

C. Copper

D. Calcium

12820650335, A
12820650296, B
1282065023397, C
12820650238, D
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B. Food and drinks
C. Other medicines
D. Other laboratory matenals

12820650399, A
12820650400, B
12820650401, C
12820650402, D

Commonest cause of neonatal mortality in India:
A. Diarrheal disease

B. Birth imjuries

C. Low birth weight

D. Congenital anomalies

12820650403, A
12820650404, B
12820650405, C
12820650406, D

A pregnant woman with uncomplicated pregnancy is allowed fo fly till
WHO guidehines for international travellers:

A 28h

B g

. 36"

o, 3

128206850407, 4
12820650408, B
12820850409, C
12820650410, D

Cu-380 IUCD requires replacementin . . . . . . years:

.....week as per

A 4
B. 6
. 8
1B, 4

0 www.FirstRanker.com
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12820650412, B
12820850413, C
12820650414, D
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The age and sex structure of a population may be described by a:
A. Life table

B. Regression coefficient

C. Population pyramid

D. Pie chart

12820650415, A
12820650416 B
12820850417, C
128206504158, D

The following are features of Botulism except:
A. Can lead to mortality

B. Bloody diarrhea

C. Dysphagia

D. No fever

12820650419, &
12820650420, B
12820650421, C
12820650422, D

The RDA of iron during pregnancy is:
21 mg
28 mg
35mg
60 mg

onwp

12820650423, A
12820650424 B
12820650425, C
12820650426, D
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A. Iron

B. Phosphorus
C. Vitamin A
D. lodine

12820650427, A
12820650425, B
12820650425, C
12820650430, D

Which of the following 1s not an important cause of childhood blindness in India?
A. Congenital dacrocystitis
B. Glaucoma
C. Malnutrition

D. Ophthalmia neonatorum

12820650431, A
12820650432 B
12820650433, C
12820650424, D

Revised Jones Criteria for Acute Rheumatic Fever does not include the following in the
list of major criteria:

A. Elevated ESR

B. Chorea

C. Carditis

D. Arthritis

12820650435, A
12820650436, B
12820650437, C
12820650438, D
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B. Ecological
C. Case-control

D. Cohort

12820650439, A
12820650440, B
12820650441, C
12820650442, D

In an outbreak of cholera in a village of 2000 population 20 cases have occurred and 5
have died. Case fatality rate 1s:

A 1%

B. 0.25%

C. 5%

D. 25%

12820650443, A
12820650444 B
12820650445, C
12820650446, D

A district has total population 10 lacs, with under-16 population being 30%. The
prevalence of blindness is 0.8/1000 among under-16 population. Calculate total number
of blind among under-16 population in the district.

A. 240
B. 2400
C. 24000
D. 240000

12820650447, &4
12820650445, B
12820650443, C
12820650450, D

www.FirstRanker.com
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B. All the close contacts
C. All susceptible amongst close contact
D. All susceptible in the whole village

12820650451, A
12820650452 B
12820650453, C
12820650454, D

Changes in occurrence of a disease over long periods of time are known as:
A. Epidemics
B. Seasonal trends
C. Cyelical trends
D. Secular trends

12820650455, &4
12820650456, B
12820650457, C
12820650458, D

A study compared 150 children with a particular disease with 300 disease free children
to examine past experiences that may contribute to the development of the illness. What
kind of study 1s this?

A. Cohort

B. Controlled clinmical trial
C. Case series

D. Case control

12820650459, A
12820650460, B
12820650481, C
12820650462, D

www.FirstRanker.com



:l :ﬁtgr!;[qg% %gg&pggaﬂ% of IV drug abusers divides a sample of patients
an

into HIV- positive r'lV-nEgai:iw*lsiv\/gi:tiiiq_t)'éﬁ.af\JS’QIafEOl‘yrpva of duvaw diiesi Rdvkeficsasion
constitute?

A. Nominal

B. Ordinal

C. Interval

D. Ratio

12820650463, A
12820650464, B
12820650465, C
12820650466, D

Best way to plot the change of incidence of disease over time 1s:
A. Histogram
B. Line chart
C. Scatter diagram
D. Ogive

12820650467, A
12820650465, B
12820650465, C
12820650470, D

The mumber of malaria cases reported during the last 10 years in a town 1s given below,
250, 320, 190, 300, 5000, 90, 260, 350, 320, and 160 The epidemiologist wants to find
out the average number of malaria cases reported in that town during the last 10 years.
The most appropriate measure of average for this data will be:

A. Arthmetic mean

B. Mode

C. Median

D. Geometric mean

12820650471, A
12820650472 B
12820650472, C
12820650474, D
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A. Tth
B. 40th
C. 100th
D. 140"

128206850475, A
12820650476 B
12820650477, C
12820650475, D

How much population falls between median and median plus one standard deviation in
a normal distribution?

A 034

B. 0.68

& %LV

D. 0:A7

128206504739, A
12820650420, B
12820650481, C
128206504582, D

[f the systolic blood pressure in a population has a mean of 130 mmHg and a median of
140 mm Hg, the distribution is said to be:

A. Symmetrical

B. Positively skewed

C. Negatively skewed

D. Either positively or negatively skewed depending on the Standard deviation

12820650483, A
12820650454, B
12820650485, C
12820650486, D
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A. 0-12 months
B. 6-12 months
C. 9-12 months
D. 12-23 months

12820650487, A
128206504858, B
12820650459, C
12820650430, D

In a study, people are separated into certain sub-groups and then some are selected
randomly from each of these sub-groups. What type of sampling is being done?

A. Simple random sampling

B. Cluster random sampling

C. Systematic random sampling
D. Stratified random sampling

12820650431, A
12820650432 B
12820650433, C
12820650434, D

All of following comes under random sampling method except:
A. Quota sampling
B. Simple random sampling
C. Stratified sampling
D. Cluster sampling

128206850435, A
12820650436, B
12820650437, C
12820650438, D
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A. Unpaired t-test
B. Fischer test
C. Paired t-test
D. Chi-square test

12820650439, &
12820650500 B
12820650501, C
12820650502, D

Chi-square test 1s used to measure the degree of:
A. Significance of difference between two proportions
B. Association between two variables
C. Correlation between two variables
D. Agreement between two observations

12820650503, A
12820650504, B
128206850505, C
12820650506, D

The correlation between variables A and B in a study was found to be 2.1. This
indicates:

A. Very strong correlation

B. Moderately strong correlation

C. Weak correlation

D. Computational mistake in calculating correlation

12820650507, &
12820650508, B
12820650509, C
12820650510, D
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the new-borns, two investigators AV B tRankedcesparatel ywimel Aissirdndiemtefidunt
results with p values 0.02 and 0.04 respectively. From this information, what can you
infer about the maenitudes of association found bv the two investications?
A. The magmtude of association found by investigator A 1s more than that found
by B
B. The magnitude of association found by investigator B 1s more than that found
by A
C. The estimates of association obtained by A and B will be equal, since both are
significant
D. Nothing can be concluded as the information given is inadequate

12820650511, A
12820650512 B
12820650513, C
12820650514, D

PART E PHD SOCTAL SCIENCES HUMANITIES AND OTHER ALLIED DISCIFLIMES

Which of the following theories does not belong to the Functionalist School?
A. Emile Durkheim

B. Radchiff Brown

C. Karl Marx

D. None of the above

12820650515, A
12820650516 B

12820650517, C
1258706850518 O

www.FirstRanker.com
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The concept of “Sick Role” in Medical Sociology was put forth by
A. J. Habermas
B. H. Spencer
C. T. Parsons
D. M. Weber

12820650519, A
12820650520, B
128206850521, C
12820650522, D

The concept of “Social Stigma’ is elaborated by
A. B. Malinowski

B. E. Goffman

C. M.Weber

D. None of the Above

12820650523, A
12820650524 B
12820650525, C
12820650526, D

Which of the following wrote extensively on bureaucracy?
A. A Comte

B. M.K. Gandh

C. E. Durkheim

D. M. Weber

12820650527, A
12820650528, B
12820650529, C
12820650520, D

www.FirstRanker.com
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B. C.W. Mills
C. Karl Marx
D. E. Gottiman

12820650521, A
12820650532 B
12820650533, C
12820650524, D

Which of the following is classified as a non-commumnicable disease?
A. Malaria
B. Tuberculosis
C. Diabetes
D. Leptospirosis

12820650535, A
12820650536 B
12820650537, C
12820650538, D

What is the current Infant Mortality Rate (IMR) of India?
A. 102 per 1000 live births

B. 44 per 1000 live births
C. 85 per 1000 live births
D. None of the above

12820650539, A
12820650540, B
12820650541, C
12820650542, D

The leading cause of death among children below five years in India are -

A. Pneumoma and Diarrhea
B. Cancer

C. Congenital Disease

D. Nomeoftheabove

www.FirstRanker.com
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12820650545, C
12820650546, D
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Which vear was “Caste’ test-enumerated in the Census of India?
A 1941
B. 1931
C. 1911
D. 1921

12820650547, A
12820650548, B
128206850549, C
12820650550, D

If you wanted to display graphically the relationship of one variable to another, you rmight
use a:

A. Pie chart.

B. Line graph.

C. Data matnx.

D. Computer program such as SPSS.

12820650551, A
12820650552 B
12820650553, C
12820650554, D

A sample 1s saturated in an interview study when -

A. No new information is emerging from your interviews
B. You have interviewed about 30 participants

C. Youhave interview about 90 participants

D. You have interviewed each participant twice

12820650555, A
12820650556, B
12820650557, C
12820650558, D

www.FirstRanker.com
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Three types of sampling commonly used in Qualitative Research include -

Random, snowball and convenience
Stratified, random and convenience
Purpose, convemence and random
Snowball, purposive and convemence

o 0w

12820650559, A
12820650560, B
12820650561, C
12820650562, D

Hard-to-engage participant groups are -

Ones that perceive little value in research participation

Ones that will only participate in research in return for money

Ones that insist on being interviewed at the weekend

Ones that only want to participate 1n research that will have some tangible impact on
service provision to vulnerable groups in society

OnQwp

12820650563, A
12820650564, B
12820650565, C
12820650566, D

Descartes (1664) proposed that the mind and body were two separate entities which
interact. The link was thought to be the -

A. Pituitary gland

B. Adrenal gland

C. Lymph system

D. Pineal gland

12820650567, A
12820650568, B
128206850569, C
12820650570, D
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B. Heal

C. Happiness
D. Holistic

12820650571, A
128206850572 B
12820650573, C
12820650574, D

According to the World Health Orgamsation (2018), which of the following is NOT in the
top ten (10) killer diseases globally?

A. Cirrhosis of the liver
B. Lung cancer

C. Heart disease

D. HIV infection

12820650575, A
12820650576 B
12820650577, C
12820650578, D

In the middle ages, the dominant model of illness was -

A. Illness is God's punishment for misdeeds.

B. Priests have the ability to restore health by driving demons out
C. Illness is the result of evil spirits.

D. All of the above

12820650579, A
12820650580, B
12820650581, C
12820650582, D

The bio psychosocial model of health -

A. Broadens the medical model.

B. Parallels the medical model.

C. Demes the role of physical causes of illness

D. Challenges the medical model. www.FirstRanker.com
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12820650584 B
12820850585, C
12820650586, D
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Bauman (1961) found that people made three types of response to the question, ‘what does
being healthy mean?

A. Health s identified with “the absence of symptoms of disease”

B. Health is ‘that a person is physically fit to be able to perform all activities’

C. Health means a ‘general sense of well-being’

D. All of the above

12820650587, A
12820650585, B
12820650589, C
12820650530, D

Anexample of good 1s getting nine (9) hours of sleep every night.
A. Physical health

B. Emotional health

C. Lifestyle

D. Mental health

128206505391, A
12820650532 B
12820650533, C
12820650534, D

Opening vour mind to new ways of doing things can improve your -
A. Mental health

B. Physical health

C. Social health

D. Emotional health

12820650535, A
12820650596, B
128208505387, C
12820650538, D

www.FirstRanker.com
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How are “health and wellness’ related?

A. Our health 1s made up of four different wellnesses

B. Wellness 1s a balance of all four dimensions of health.

C. Health and wellness are exactly the same thing.

D. They are not related.

128206505399, A
12820650600, B
128206850801, C
12820650602, D

A set of behaviors that you live by is called your
A. Lifestyle

B. Attitude

C. Belief system

D. Conscience

12820650603, A
12820650604, B
12820650605, C
12820650806, D

Traits that can include having a higher risk for certain diseases are passed down to us from
our ancestors through what process?

A. Physical environment

B. Famuly behaviors

C. Heredity

D. Media influence

12820650607, &
12820650608, B
12820650609, C
12820650610, D

www.FirstRanker.com
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B. Family
C. Media
D. Peers

12820650611, A
12820650612 B
12820650613, C
12820650614, D

Which of the following influences 1s NOT an environmental influence on your health?
A. Peer pressure

B. Pollen

C. Microscopic organisms

D. Air quality

12820650615, A
12820650616 B
128206850817, C
128206506158, D

Which of the following activities 1s an example of preventive healthcare?
A. Talking aspirin for a headache
B. Taking antibiotics to prevent infection
C. Wrapping a twisted ankle
D. Eating nufritious meals

12820650619, A
12820650620, B
12820650621, C
12820650622, D

Alternative medical treatments may involve all of the following except -
A. Mind.
B. Energy.
C. Scientific method.
D. Meditation.

www.FirstRanker.com
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Which form of alternative medicine 1s based on the assumption that ‘like cures like’?
A. Ayurveda

B. Naturopathy

C. Bio-field therapies

D. Homeopathy

128206850827, A
12820650628, B
12820650629, C
12820650620, D

‘Social Aging’ refers to age-related changes in -
A. The body from birth to death

B. Relationships, career, and income

C. Cogmtive functioning

D. Mood and emotions.

12820650631, A
12820650632 B
12820650632, C
12820650624, D

Radha is a 45-year-old woman who i1s experiencing changes in her menstrual cycle, mood
swings, and vaginal dryness. Her symptoms are most likely due to -

A. menopause.

B. Premenstrual syndrome.

C. Premenstrual dysphoric disorder (PMDD).

D. Perimenopause.

12820650635, A
12820650636, B
12820850637, C
12820650638, D

www:.FirstRanker.com
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B. Asian Americans

C. Caucasians

D. Hispanics

12820650639, A
12820650640, B
12820650641, C
12820650642, D

Which of the following 1s predicted to decrease life expectancy in coming years?
A. Higher rates of smoking

B. Higher rates of cardiovascular disease

C. Higher rates of alcohol abuse

D. All of the above

12820650643, A
12820650644, B
12820650645, C
12820650646, D

The “Social Dnift Model® suggests that

A. Low socio-economic status (SES) causes health problems.
B. Health problems contribute to low SES.

C. Low SES 1s associated with health problems.

D. SES is not associated with health.

12820650647, &
12820650645, B
128206850645, C
12820650650, D

Which 1s the earliest and most widely used “Social Cogmtion Model’?
A. Health Belhief Model

B. Motivational Model

C. Behaviour Enaction Model

D. None of the above

19520650651, A www.FirstRanker.com
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Reporting of female-morbidity will be enhanced by -
A. Careful gender-sensitive probing of the respondent
B. Engaging male-nurses to respond

C. Engaging other female nurses to respond

D. Engaging mother-in-laws to respond

128206850655, A
12820650656, B
12820650657, C
128206506558, D

Which of the following statements regarding the Gernatrics community 1s true?
I. Certain chronic diseases are more frequent among the older people than in the younger
people.
II. Ageing is an unnatural process.
III. Help Age India is the largest voluntary organization working for the aged.
IV. Geratric gynecology is a new branch of specialization to look after the aged women.

Codes-
A. I, IT and III are correct.
B. IL IIl and IV are correct.
C. L III, and IV are correct.
D. II, IV and I are correct.

12820650659, A
12820650660, B
12820650661, C
12820650662, D
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A. Andhra Pradesh, Jharkhand, Rajasthan, Kerala
B. Kerala, Andhra Pradesh, Rajasthan, Tharkhand
C. Jharkhand, Andhra Pradesh, Rajasthan, Kerala
D. Jharkhand, Rajasthan, Andhra Pradesh, Kerala

12820650663, A
12820650664, B
128206850865, C
12820650666, D

What is the correct sequence of data analysis of qualitative data?

A. Domain identification, Free-listing, Familiarisation, Emergence of Model
B. Free-listing, Emergence of model, Domain idenfification, Familiarisation
C. Familiarisation, Free-listing, Domain-identification, Emergence of Model
D. Emergence of model, Familianisation, Domain-identification, Free-listing

12820650867, A
12820650665, B
12820650669, C
12820650870, D

Total Fertility Rate (TFR) 1s expressed as -

A. Number of live births per 1000 women in the reproductive age group (15-44 or 49) in
a given year.

B. Number of daughters a newborn girl will bear during her life time assuming fixed age
specific fertility and mortality rates.

C. Average number of children a woman would have 1f she were to pass through her
reproductive years bearing children at the at the same rate as women in each age group.

D. None of the above.

12820650671, A
12820650672 B
12820650673, C
12820650674, D
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Reviewing environmental trends

Collecting information on the determinants of health

Reviewing feedback from clients and the community on its service
. Working with the community to identify prionty needs

A land3
B. 1and 4
C. 3and 4
D. All of the above

e LS

128206850675, A
12820650676, B
12820650677, C
12820650875, D

Given below are paired statements, Statement (A)=(Assertion) and Statement
(R)=(Reason). Select appropriate answer using the codes given below:

Both (A) and (R) are true and (R) is correct explanation of (A).
Both (A) and (R) are true, but (R) is not correct explanation of (A).
(A)is true, but (R) 1s false.

(A)1s false, but (R) 1s true.

ASSERTION (A)- Poverty due to lack of the basic resources put individuals to high levels of
stress that engage them in unhealthy eating habits, inactivity, smoking, unprotected sex,
violence and even suicide.

REASON (R) Poverty and inequality affect personal health practices and coping skills.

A, Both (A) and (R) are true and (R) 1s correct explanation of (A).

B. Both (A) and (R) are true, but (R) is not correct explanation of (A).
C. (A)is true, but (R) is false.

D. (A)is false, but (R) is true.

12820650673, A
128206506280, B
128206506881, C
12820650682, D
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A. Maternalist method of Marx
B. Social Psychology of George Herbert Mead
C. Phenomenology of Alfred Schutz.
D. All the above

12820650683, A
12820650684, B
12820850885, C
12820650686, D

Which of the following statements are true regarding International Organizations?
1. The WHO has its origin in April 1945,

2. The Red Cross Society of India is an international NGO.

3. UNICEF is an organmzation looking for maternal and child health.

4. The headquarters of WHO is in Geneva.

Codes-

1 and 2 are correct.

1, 2 and 3 are correct.
2. 3 and 4 are correct.
D. 1,3 and 4 are correct.

A
B.
&,

12820650887, A
12820650688, B
12820650689, C
12820650630, D

A-Experiments get high marks for reliability and analysis of causality.
B-Validity issues make them less than ideal for many research purposes.
Both A and B are true

A 1s true but B 1s false

A 1s false but B 1s true

Both A and B are false

Oawp

12820650631, A
12820650632, B
128206506393, C
12820650634, D
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